214s-14 Square-neck Tank

Suggested yarn:
* Pierrot Yarns Tours [100% linen; 115yds/105m per 1.060z/30g skein]; color #02 natural beige, 4 skeins [110g]
+ Pierrot Yarns Cyrup [52% acrylic, 29% nylon (polyamide), 13% plant fiber, 6% polyester; 492yds/450m per 1.760z/50g skein]; color #13 peach sorbet, 1 skein [40g]

Tools/Notions:
* 3.0mm (US 3), 3.6mm (approx. US 5), and 3.9mm (approx. US 6) knitting needles or sizes necessary to achieve gauge
+ 3.0mm (US 3) double-pointed knitting needles or size necessary to achieve gauge

Finished measurements:
* bust 90cm/35.43"

* cross back width 35cm/13.78"
* back length 55.5cm/21.85"

Gauge (10cm/4" square):
* pattern stitch (with 3.9mm needles): 21 sts and 24 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

---------------------------------------------------------------------------------------------------------------------------------------------------------------------

Summary
*%-Note: Entire garment worked with 2 strands of yarn held together (1 strand of Tours and 1 strand of Cyrup).

Body: Cast on with long-tail cast-on method. Work in pattern stitch, changing needle size when indicated to alter gauge. Shape armscye by working decreases at edges as indicated.
Shape neckline by increasing 1 stitch at each side as indicated, then work right and left sides separately. Pick up stitches around hem; work k1p1 ribbing and bind off in pattern.

Finishing: Seam shoulders with crochet slip stitch seam. Seam sides with mattress stitch. Work k1p1 ribbing in the round along armholes and neckline. Bind off ribbing in pattern.

Abbreviations:
BO = bind off CO=caston k = knit p = purl psso = pass slipped stitch over PU = pick up sl = slip #-#-# = rows-stitches-times

---------------------------------------------------------------------------------------------------------------------------------------------------------------------

© 2014 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.
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